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1. The graph of f(x) (shown above) is discontinuous at x = -4, -1, 2, and 5. The three conditions
for discontinuity are given below to the right of the table. For each value of x in the table, write
the letter (A, B, or C) that matches why £ (x) is discontinuous at that x-value. Then state if the
discontinuity is removable or nonremovable. (1 point each' blank)

Why discontinuous?
(write the letter)
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Removable or nonremovable?

2. (Spoints) If g(x)=9 x+3 *° -3 , state the x-value at which g (x) is discontinuous and
1-x* , x=-3 , N
why. (State Continuity conditions!) Then determme if the discontinuity is removable or non-
removable and state why.
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3. (4 pts) Show whether Intermediate Value Theorem applies. Then find all numbers ¢ € [a, b]
for which f(¢) = k. (Step through conditions!)

f)=x*—4x+4 ; [-2,4],k=9
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4. Find the following. (1 point each blank)
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5. (1 point each blank) Let f(x) = ——, - and find the following:
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1. The graph of f(x) (shown above) is discontinuous at x = -4, -1, 2, and 5. The three conditions
for discontinuity are given below to the right of the table. For each value of x in the table, write
~ the letter (A, B, or C) that matches why £'(x) is discontinuous at that x-value. Then state if the
discontinuity is removable or nonremovable. (1 point each-blank)

Why discontinuous?
(write the letter)
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Removable or nonremovable?
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2. (Spoints) Ifg(x) =< x+4 ° x #—4 , state the x-value at which g (x) is discontinuous and why.
‘ | 2-x> , x=-4
(Use Continuity conditions!) Then determme if the discontinuity is removable or non-
removable and state why.
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3. (4 pts) Show whether Intermediate Value Theorem applies. Then find all numbers ¢ € [a, b]
for which f(c) = k. (Step through conditions!) '
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1. The graph of f (x) (shown above) is discontinuous at x = -4, -1, 2, and 5. The three conditions
for discontinuity are given below to the right of the table. For each value of x in the table, write
the letter (A, B, or C) that matches why f(x) is discontinuous at that x-value. Then state if the
discontinuity is removable or nonremovable. (1 point each. blank)

aE Why discontinuous?
* (write the letter)
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Removable or nonremovable?
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' 2. (Spoints) Ifg(x)=9 x+5 ° X #=5 , state the x-value at which g (x) is discontinuous and
PR 5-x* , x=-5 |
NEAT I __hy Then determine if the discontinuity is removable or non-removable and state why.
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3. (4 pts) Show that the Intelmedlate Value Theorem apphes Then find all numbers ¢ e [a b] for B
which f(c) = k.
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6. (2 points) Find all horizontal asymptotes of f (x) = T




